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(Write your Roll No. on the top immediately
on receipt of this question paper.)
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Note : (i) Answers may be written either in English or in
Hindi; but the same medium should be used

throughout the paper.

(ii) The maximum marks printed on the question
paper are applicable for the students of the
Cat. ‘B’. These marks will, however, be scaled
down proportionately in respect of the students
of regular colleges Cat. ‘A’ at the time of

posting of awards for compilation of result.
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fooquft : (i) 389 Ye7-99 1 I 37N 47 =<t et oa e |
difarg; cfeT @l Iwd F1 AT wF &g
Gl
(ii) I¥7-99 W 3fha qoiis 9ot ‘B° #F faenffal &
fore ergwaia &1 aenfy @ s fafiq Fict,
A A" & Frnfelal % gy § 39% 9o %
gae 3 forg Fges sifafyle & o9 w, 39
ATy &9 8§ %9 g |

Attempt all questions. Question No. 1 is compulsory.

ot ye Fifore | gv7 q=37 1 AT 21

1. Indicate whether the following statements are True or
False : 7
(1) Medical allowance is not chargeable to tax.

(11) Interest on saving bank account with a post office
is exempt from tax.

(iii) Horse race loss cannot be carried forward and set-
off.

(iv) Long-term capital loss can be adjusted only from

long-term capital gain.
Farst Frefafiad woa a7 8 7t 3w
(i) Terfrean s =t ava T B
(i) STHER T O @I T ST F G Bt & |
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(i) FedrE B g T gHrEeH & e o 7 o
R S WA |

(iv) B Yo 21 Y Shae dHHTe | YT Ty
o g wamteE e < g 8

2. Mr. X is a professor in Delhi University. His income for
the previous year ended on 31st March, 2009 was as
follows : 11

(1) Basic pay Rs. 20,000 p.m.
(ii) Dearness Allowance @ 45% of the pay
(iii) City compensatory allowance Rs. 100 p.m.

(iv) Special pay @ Rs. 275 p.m. for promoting small
family norms.

(v) Transport allowance @ Rs. 400 p.m.
(vi) Proctor Allowance @ Rs. 300 p.m.

(vii) He is living in his own house. Annual value of the
house is Rs. 3,000 and he is getting 15% of the
pay as house rent allowance.

(viii) Arrears of pay 1,00,000

During the previous year, his investment were as

follows :
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(i) He contributes in a provident fund @ Rs. 5,000
p.m.

(i) His life insurance premium was Rs. 500 p.m.

(iii) He pays Rs. 30,000 as payment of interest and Rs.
40,000 as investment for the housing loan taken
for the construction of his house.

(iv) He invested Rs. 35,000 in IDBI infrastructure
bond.

You are required to calculate taxable income and

income tax payable for the assessment year 2009-10.
Or

Compare the following from Income Tax point of
view :

(a) Previous year and assessment year.

(b) Short-term capital gain and long term capital gain.
(c) Horse race loss and race horses loss. 11
fir. o fig Rvafraem § Wba @ | FERE 8 31
T, 2009 F G B TS T T8 | TR AE T TFR
ot :

(i) W 44T 20,000 &, Wi AR |

(if) FETS S A 1 45% |

(ii) T S 991 100 T, T AR
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(iv) SIS TRER o Ticare &g fagiy 37 275 %, Wi 71E
(v) HTARITG 9T 400 T, Wid 718 |
(vi) T 99T 300 %. Ufd Wg |

(vii)d 3 Fsft ememm o @ & o St gened
3,000 T. & g1 2 ¢ T 15% W fehtran e ura
H

(viii) 36 =1 FHET 1,00,000

T @ % S e TafeE e 2

() wirsa R d 5,000 %. ufd W@ simER @ 2|
(i) 3 sfiae i Hifimm 500 %, wfa =8 o

(iii) 3T TFH T4 & T 3= H=W W 30,000 T
TS G 40,000 FI T T A HA & |

(iv) 381 IDBI FHRZFR Fvg ¥ 35,000 . fafwifsa
[Cay

w2 Frator a1 2009- 10 % fore = A 3T o 39 ST

1 T |

G Pe
frfafiaa 6t s gfE @ gan Fifse:
(31) 7 o we 3R e o)
() STl TSTTd o1y TF SrEaRTei IeiTd o |
(@) gedis w@ e H Hig 4 T |
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3. (a)

(b)
©)

How would you determine the residential status of
an individual ? Discuss fully.

Who is a person of Indian origin?

What are the provisions of Income Tax for
inclusion of income of a minor child in the total

income of an assessee 7 Explain. 5+2+4

Or

Mr. X owns several assets but does not own any

residential house. He sells the following asset and

requests you to compute taxable capital gain for the
assessment year 2009-10. 5+2+4

(i)

(ii)

4382

Shares (purchased in April 1990 for Rs. 54,600)
sold on 15.9.2008 for Rs. 1,95,000 and securities

transaction tax paid.

On 1 April 1981, he agreed to sell the jewellery to
Y for Rs. 2,70,000 which was purchased in 1976
for Rs. 1,50,000. However, the sale could not be
effected as Y backed out. He forfeited the advance
of Rs. 20,000 which he received from Mr. Y. He
now sold the jeweilery on 15 July 2008 for Rs.
15,62,500 and incurred Rs. 20,000 incidental
selling expenses on account of brokerage and
commission. In December 2008 he purchased a
small residential house for Rs. 2.50,000.



(111) Debentures (purchased in September 2008 for Rs.
50,000) sold on 31.12.2008 for Rs. 45,000,

(iv) Sold his motor car (purchased in August 2005 for
Rs. 1,50,000) on 15 March 2009 for Rs. 1,60,000.
The cost inflation index for the relevant years is :
1981-82 (100); 1990-91 (182); 2008-09 (582)

(31) 319 O <A fawi o1 frame vom 38 Ruif w7
quiaET §HEST |
() Toret Wb = eh 1 TTRATS Tt i el THT ST & ¢
(9) U T T Al I F FET F T A
i = & ey 7 e 1w & yEaE
& 7 gugnsy |
FreraT
. wvw & =l § feg 9 smawd v T8 2
T Fmfafae gufual 9= 39 & 9 o @ = Fufor
2009-10 3 7T & A Geft w1 6 7M1 1 = HEd 8 -
(i) 15.09.2008 i (37191 1990 T 54,600 %. ¥ %4 fam

) A 1,95,000 F. T o9 Ry = 3w w wfosfa
gezregr o o} 31eT fem

(i) 1976 T 1,50,000 %. Hed 3 3 hl T8 Saorl 1 it
1981 ! 2,70,000 &, T =4 &' Teqd gl FAf Y
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% g & Frw foght of 7 2 weht s g Y &
20,000 %. S 31fIW ¥4 7 91w §U & = L forwi 15
JeTE 2008 & SIEH 15,62,500 . F = aw
TEmelt 9 FHER F 20,000 % o fw) feww,
2008 § €11 UF DI AEEE T 2,50,000 T. A
% o |

(iii) 31.12.2008 F (f&wmrar 2008 # 50,000 &: & %7

foFg ) o9 45,000 %, 789 Ry

(iv) 15 1T, 2009 T 379t H12X M (S 3R 2005 H

1,50,000 & & %7 H o) 1,60,000 5. d a9 &)
gt o8] =1 evTa whifa g P g
1981-82 (100); 1990-91 (182); 2008-09
(582)

4. Write notes on ; 5+3+42

(a) Transferred balance

(b) Assessee

(c) Block of assets
feoqoft fafiay -

(%) TETaiE Ty
(@) e

(71) w1 AN
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5. (a)

(b)

4382

X (24 years) has the following income for the

previous year 2008-09 :

of non-listed shares

Rs.
—galary 97,000
Business Income (-) 54,000
Short-term capital gain 92,000
Long-term capital gain on sale 79,000

He deposits Rs. 55,000 in the public provident

fund account, find out the tax liability for the

assessment year 2009-10 on the assumption that X

is resident and ordinarily resident in India. 5

The particulars of a residential house are given

below for the A.Y. 2009-10

2006-07 recovered during the year

Rs.

Annual rent 1,92,000
Municipal value 1,60,000
Unrealised rent (P.Y. 2008-09} 16,000
Municipal taxes patd 16,000
Interest on money borrowed for 16,000
construction

Unrealised rent allowed in A.Y. 8,000

9
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Prescribed conditions relating to unrealised rent

are fulfitled. Compute income from house property

for the A.Y. 2009-10. 6
(37) X Rt a17g 24 a9 §, T 9% 2008-09 & g
zadh! amg fafaflaa 2
T,
ELE] 97,000
I A (-} 54,000
ST fid o 92,000 |
geiag Aw © et S | 79,000
GIE

%vﬁaﬁ%wﬁmﬁﬁ:@ﬁﬁss,oooamaﬂ%
1 3ah R Frafeo 3 2009- 10 < forg 7@ wHd g@
5 a8 sa =1 P ud arawe e 2, weE

<1 o il

() v frermd wE & 2009-10 W Fufor o & e
e weR E:
: 5
{aﬁamm 1,92,000
T e 1,60,000
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19TH e (a9 2008-09) 16,000
T 7T TRIT(AHT 16,000
P ¥g 3w ot T s 16,000
F Fuftn s 2006-07 # g 8,000
79T R T Ay & e @

e fHe & wey °§ fruifa od € &t #1 W
fuf a9 2009-10 % forw 7= gufy @ sma 6t
AT S |
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